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LJ-1207

B.Com. (Part-II)
Term End Examination, 2021

Paper - |

Business Statistics

: Three Hours] [Maximum Marks : 75

[Minimum Pass Marks : 25

Note

@ gEl & IR AfNu wft gEl F fw
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: Answer all questions. All questions carry equal
marks. Log Table and Graph Paper will be
supplied on demand.
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(2) ‘ (3)
1
_—WW Calculate Mode, Median and Mean :
i L
R |
s 38 J Below [3]5[7 [10[13 [15]20] 25] 30
150 2 i 55 ‘] Number|2| 5 |10 | 15|30 |35] 42| 47] 50
[
200-250 20 1 ;
; FCOES t-11
250 3R s 5 { i
P ] 2. TR ¥ w1 ATYYE & ? STUfRTO St MU
300 Hch

1 fafy= fafdl <1 aaEw) 396 oo
I F@E

What is meant by dispersion? Explain

From the following data, prepare an exclusive
continuous series on the basis of equal class-

interval : :
1nLErVa different methods of computing dispersion.
7 Income (%) No. of Persons Discuss their comparative usefulness.
]
] Less than 50 7 37erar / OR
Less than 100 20 .
it i Frafafea siwel @ = frgds =1 fawma
; 150 and above 55 wl ;
: 200-250 20 q 3 (¥ afu)| 5 |15|25(35(45|55 |65[75| 85
250 and above 5
B i : fl EIE 120[105|96|85|72|58(32(12| O
and above % .
: i ’ ;
Ok %' (S‘,‘:lculate Karl Pearson s coefficient of
- : ewness from the following data :
; o, Tifeas . W g S j Marks (more than)| 5 [15 [25[35]45|5565]75[85
dw(3|s5|7[0]1 i
q . 3[15420125}30 | Students 120110596|85(72|58[32{12[ 0
3 we (2|5 |10( 1530|3542 |47 |50 -
;
£
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(4) (5)

3hTE / Unit-111 Age | Total population | Literate population
3. = wEl @ g a1 WERW & WEd e (*000) ('000)
frads 1 Geg=y UNE TW i 30-40 80 60
3 | gw seen | fifim sEen 40-50 60 40
( '000) ('000)
50-60 40 25
10-20 120 100
60-70 15 10
20-30 100 75
3040 80 60 Lol s 4
40-50 60 40 37eET / OR
50-60 40 25 VeaaX 99 WEeR ¥ 9%gsi & wEa 4@
60-70 15 10 ‘ wafyn Freifea diwe see €1 wiEew
70-80 8 4 , Oy # e S SEH R wEiE

WaaR H IR FHG T15 T
Calculate Karl Pearson’s correlation coefficient ‘

between age and literacy from the data given _ mm
below :

Eale G i 10
Age | Total population| Literate population - 2
("000) (*000) TEg F F W WA e 42 4
1924 124 L Y W TEER W RWEER A wEa
20-30 100 75 Ty FEwE MU = +0.8
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(6)

(7)
The following data related with the prices of 7= wiwl /@ e ot O g7 e W
items in Jabalpur and Narsinghpur are available. ] R HIST q4 2007 & fom fart =
Estimate the price of item in Narsinghpur when 3
R 3 s i STAH TR

the price in Jabalpur is ¥ 15 :

Jabalpur Narsinghpur i ']9911992199319941995199419971993 1999
Mean of the prices i fashl
of the item 10 12 - (3=)|150[170{190 | 210|230 | 260{ 300|350 410
Standard Deviation of i

the prices of the item 4.2 4.5 k Calculatcrtrend l;alu}:s“by .thc rgc:hod c:if lclasl
- squares from the following data and also
The correlation coefficient between the prices i ecsllimale the sales for 200]3;
of item in Jabalpur and Narsinghpur = +0.8 |
1 Year |1991{1992[1993(1994[1995[1 996]1997)1998]1999
B1E / Unit-IV 1 Sales
4. Frefaf : W Fdiet @ few ] (units){ 150 (170]190|210 {230 |260 [300 |350 |410
MR Fewis TR wifaw 1 3T / Unit-V
EL] 1985|1986(19871988 [1989(1990 E 5 (o) Wifers! ¥ ©H w9 O A, B
ST TR ‘ i c W fG@m m owE F gW
Fireriar 92 1102 104 | 98 [103 | 107 YE HOFTE FA F G w:
i 1 : 1
| ¥ & Eli]
From the chain base index numbers given E ;,_’-1 4ﬁ@a15 * it ke
below prepare fixed base index numbers : ; o )
k . . e . .
A problem in Statistics is given to three
Y -
ear 1985]1986/1987/19881989{1990 I students A, B and C. Probability of
Chain base solving the question by the students are
Index Number | 92 | 102 (104 | 98 [103|101 | 3, 3 and 3 respectively. What is the
| ] probability that the problem will be
'I Sear / OR i solved ?
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(b)) 6 AR TH 4 BHE § & 8 &Il
%I T 9fifq s §1 g8 9fafy e

YR ¥ IR W Ghdl ¢ gfe amfa §
4 ¥ HY AR 7 B2

e

From 6 teachers and 4 students, a

commitee of 8 is to be formed. In how
many ways can this be done when these

should not be less than 4 teachers in the :-
commitee ?

HI4T / OR

T A H 4 Fe a1 Ghe AT ¥ TW
93 9 5 el T 4 GFE e ¥ et
9 ¥ TH we g Frewet @ @ oHn
wifgshdr & fF 9% wee 9« @ € Freeet R

A bag contains 4 black and 1 white ball.
Another bag contains 5 black and 4 white
balls. One black ball has been taken out from -
one of the bags. What is the probability that
it came from the first bag ?
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